5% 20p

b%21p

p iy 5% 15p 57 16p 57 17p 57 18p 57 19p

% 2y - = = 7 By B p
a g N ET: 44 4% 15 38 A 3 o 2B | 3R B2

5 % X 2K

FAE A Atk ] 2R Al ARE YK iR A AR RV AR AR %
= R Pyt o Y B vEYE R &2 K L 2 Ray LERE
SR LR k€ 2 F LR S kEE %2 F
ey 3 PR R
R N R S TEPRGF | EBHET R EEEY | BmAKEZ®R | = w PR
at 2 RIS REVHEAIN | BAVES 2 WA . P“ B A 7 TR
P4 ERE P4 ERE P4 ERE L ERE %»Mﬁ LR LR
ENS ) BEEE '}:aL TeFE o B vk vy oF I 12 a1 F

A4 %
P _& ‘4[“‘/?\,

I e resag oz 2000 ’
25 MFE EIE N G 4oR b KT E
SRR SRR -

= f')_&»]’;?&i»k"%‘vfyk 1
;g_g{;,ﬁ,;ﬁvsﬁ’q/_g T

Fefe st (F~VEHE)

SAE o (A
1

\FT\P%

2,400 =~ -
TR S f&‘]éCAS)
AT SR A

A THELKE




